DME3012 Final Exam (Computational Design Lab) 12/20/2016

Solution

1.

1) (25 pts)

2) (10 pts)

o 4 ‘ ‘ ™

do
oy
e
a2
ot
i)
K
il

o 2 Ef 2 AA (10 pts)

3) (10 pts)

PEE LR x

7|

e

3

1z

H

EEeE E] Er, ~

— ! 2
.
;

Fag 49 AAH (5pts) T3 st A (5pts)

Vehicle Structure 1



DME3012

Final Exam (Computational Design Lab) 12/20/2016

1400001

1300001

Maximum Displacement

Maximum Displacement vs. Frequency

—— Maximum Displacemen

002000

C00s000  100ee002  200sed02  800e-iC] 4002002

500ee000 600002  700ee002  £00e-002  900se002 100003  110ee00} 1200008  130ee003 1406003 150e00  1860ee008

Frequency

EEH 2BEY X
EEEH EH 2
EEE R LN 22222 <
| zaszoz | =72t | =g | aow | FEEE | FEEr | gAws | ssxgaw | .
]
»
10 2 20 " " 91 "
10 2 20 22 2 21 22
10 2 20 96 93 11 96
10 2 20 2 21 2 2
10 2 20 2 2 2 2
10 2 20 2 21 2 2
10 2 20 2 2 2 2
10 2 20 5 6.8 71 5
EAHT-10 10 2 20 21 2 21 21
E A(ERIANZ)
s=uromEm | 0 | [ [ ] [ s ] [= ] 1 1 .
e s e = = = .
ALBRE O 29! [asm=e [ msume |
2Eus
oy [arexr e - 2ene EE NFXDE,Duhm\zEd‘an‘El
B ErS

- ¥ SAE ol &ate] AA W AA (AA W 1070 ) (5 pts)

=AM A (WS 12, 2F ok, 2T (5 pts)

- A WME Sl diste]l YA FE (FaeSEHs, LRFIE, F-90) (5 pts)
- AF AAREA I (FATE, AdEd 25 EF (5 pts)

- AT A = @AASE A A S (5 pts)

Vehicle Structure




DME3012 Final Exam (Computational Design Lab) 12/20/2016
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